N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

1%} (%] [%]
x X B4
[*} o [}
g g 8
S104 5104 ;
= 2
=1 £
[=%
10° 10° 310
10? 10?
10 10
1
o T b0 A O] p L e L = T
T | DOM 1 man QCDHighPt_retrain
[a ! o o Pl T T, [SEer o T 24
.0” jmER LR 0.8
0—25 —20-15-10 5 0 5 10 5 20 25 O'—45—20—15—10 -5 0 5 10 15 20 25 0'—‘25—40—15—10 —5 O 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)

N of reco track vs dz

=30 -20 -10 O 10 20 30
track dz (cm)

[N of associated (recoToSim) tracks vs dz_]

true tracks

=

L.

-30 -20 -10 O 10 20 30
track dz (cm)

fake tracks

[N

0 10 20 30

track dz (cm)

| N of associated (recoToSim) looper tracks vs dz |

duplicate tracks

i
(=)

-30 -20 10 20 30

track dz (cm)



	Contents
	Page 1


